= o
N & 0l & AF & E A A
20158 = S0l& LB H AIMR=R ~ E2
M E20
M Hels DEMH 7E L CARE LA
©el: SEIHa EER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
S22 22,740,661 17,389, 181 5,351,480
< 1,041,940
Al 14,698,721
T 7,000,000
Helgt WEMA 25 € ZAZE g 7,760,120 61,140 7,698,980
< 6,940
Al 753,180
T 7,000,000
T2 4E 7,521,100 0 7,521,100
Al 521,100
T 7,000,000
HEZ ~ HES2 2L SA 503,600 0 503,600
401 AIEHIZ 28I 503,600 0 503,600
01 A& Hl 500,000 0 500,000
OXEZ~-UHES2 T2IHLEZA
500,000,000 500,000
03 Al 20 HI 3,600 0 3,600
OMEZ~-UHES2 T2IHEZA
500,000,000& *0.72% 3,600
Hot2 SHE A 7,017,500 0 7,017,500
Al 17,500
T 7,000,000
401 AIEBIZ 201 8I 7,017,500 0 7,017,500
Al 17,500
T 7,000,000
01 A& tl 7,000,000 0 7,000,000
Ogorz2 & IA 7,000,000,000& 7,000,000
| 7,000,000
03 AlE S THHI 17,500 0 17,500
Ogotz & Z AL 7,000,000,000& *0.25% 17,500
C=2 sAzel 239,020 61,140 177,880
< 6,940
Al 232,080
SZ2HEA® Fl 13,880 26,000 A 12,120
< 6,940
Al 6,940
401 Al BIZ 201 8] 13,880 26,000 A 12,120
< 6,940
Al 6,940
01 A& HI 13,880 26,000 212,120
OEZ ZXE &l 13,880, 000& 13,880
= 6,940
Al 6,940
E2HE oL & 2 25,140 23,040 2,100
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SH: 2
He

g Helgh wSHAH FE 2 TADE 2
¢elr &2 Xzl (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
201 fEt2E | 19,240 17,140 2,100
01 AtR 2t 2l Hl 9,940 7,840 2,100
OfIEsagd+d 9,940
—EANEAEE 70,000 «7H %102 4,900
— 222y s 70,0008 7«63 2,940
— XA BHS 2T
70,0002 =10 »33] 2,100
02 524t 9,300 9,300 0
OEXEd SJIREZ 1,750& *2,00024 3,500
ONMt=Z2x& MASA3 1,400
—2&8= 800,000& = 1CH 800
— NS Al 600,000& 1CH 600
OMdt=&ie <Al 4,400
— A ZH| 300,000 »1CH~12& 3,600
— Z=clH| 800,000& = 1CH 800
203 YR =& 5,900 5,900 0
03 AT =AY 5,900 5,900 0
OUnZ AEAME g2FX 5,900,000& 5,900
X2 200,000 0 200,000
401 AIEBI L 2 CHEI 200,000 0 200,000
01 A& dl 200,000 0 200,000
OEHSZIMHE ABASE 200,000,000& 200,000
KotZ2t oHg & 2tel 1,549,365 2,392,217 A\ 842,852
NGB e & e 1,549,365 2,392,217 842,852
s+ 29 1,549,365 2,392,217 A\ 842,852
201 fEt2E | 133,356 131,028 2,328
01 At 22l bl 22,880 42,300 19,420
O3s+ dit=2H| 300,000& »12& 3,600
O3S+ 224 =< 6,860
—dgd 7,000 23 240 3,360
-5, 3%< 7,000& *4E x125& 3,500
O3S+ 2l =Z L=l 5,000
—SIEI(2R=23F) 200,000 =10 2,000
— SEI(LE=23E) 300,000& =10 3,000
O3+ M= 100,000& #35& #23] 7,000
O=s7823 #4+8 70,0008 +3Y »23 420
02 332gl 110,476 88,728 21,748
o372 &z 27,816
—Jl=2es=s 9,320 «100kw*12& 11,184
—d8Eges 140& %9, 900kw*12& 16,632
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2M: E2
M Xot32 gy & 2el
Sl XIBHZ2 N o e CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZs+ NFEh 420,000& x12& 5,040
O+ &ot=&g 50,000& 12& 600
O3s+ Ald sXZet 55,000,000 55,000
OHFIIGHEAAN 2 410,000& x12& 4,920
Odszeliid =5 600,000 128 7,200
Oztetel At8 =dlg 350,000& »12& 4,200
OR=2d 28 g 80,000& »12& 960
OZs+7 IP BAE =& 35,0002 128 420
ORHEIITRS 2023 60,000 ~6CH =128 4,320
202 oddl 1,200 1,200 0
01 =Lhottl 1,200 1,200 0
OZET Y2 (SABA S)XT0HH]
100,000& 128 1,200
307 izl & 650,147 1,271,784 A 621,637
05 RIZHRI &t 3 650,147 1,271,784 A621,637
ORHAXGT &I RIEREZ 650,147,000 650,147
401 AIEBIZ 201 8I 764,662 987,255 A 222,593
01 A& HI 760,000 981,900 A 221,900
O&=F HMHEE LHIA
5,000,000 *44 & 20,000
OZ2s7 Ex3A 740,000,000 740,000
03 Al 2 THHI 4,662 5,355 A 693
O3+ B3 A 740,000,000% *0.63% 4,662
QHMGHD BEE TAIEA =4 39,117 53,254 A 14,137
TRE MEsEd =4 39,117 53,254 AN 14,137
HZUWAE 22 12,907 25,954 A 13,047
201 LB-2EH| 12,907 15,954 N 3,047
01 At 2t 2l 3,112 3,059 53
OHEZUAIE &I FH =2
53,6503 *58H A 3,112
02 =224l 9,795 12,895 A 3,100
OHZUAIE 3 EE=
120,000,000 *1.4954% 1,795
OHZUAIE AM&E2 sX&eldl  8,000,000& 8,000
CEA Y LAFIE FH 26,210 27,300 A 1,090
201 et 15,520 16,610 A 1,090
01 At 22l I 4,620 6,210 A 1,590
O34 U522 1=l 2,100
—28= 200,000 *3H »23] 1,200
— gt= 200,000& »3H 600
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2M: &2
MM OtMSID DEE TAIEH T4
Sl R MBHY I4 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— 223 100, 000& »3H 300
OLBABINMAAAS BML
70,0003 *x9H *4 3] 2,520
02 2% H| 10,900 10,400 500
OSEXE MAZ2U2 800
— 282 600,000& = 1CH 600
— NS XA 200,000 = 1CH 200
O£ K XY 3,200
— =t 200,000 =1t~ 12& 2,400
— =2l 4| 800,000& = 1LH 800
OdIII=E T S Xl 22|
100, 000 x69H A 6,900
202 044 5,040 5,040 0
01 2L I 5,040 5,040 0
OSHL-&HAN SHHSE o]
10,000& 3 14 x12& 5,040
203 €2 F&d| 2,500 2,500 0
03 AIEH =X H 2 F XY 2,500 2,500 0
OLdEExs 2 MY gRF&X 2,500,000 2,500
301 et A= 3,150 3,150 0
09 HAIAHI EAZ 3,150 3,150 0
Ot g oi2tol Z2AlH| 7,000& 30 x153] 3,150
He|lgt nsstad3xry 244 179 217,674 26,505
MEtA sMHE N8 H 23HEF 244 179 217,674 26,505
MNEAH 23 2208 29 77,400 78,400 A 1,000
QB2 A Y| 61,100 58,900 2,200
A2 22| Hl 61,100 58,900 2,200
OXNEHOISEHs 2 =222 M2
10,000, 000& 10,000
OXNEHEAI T S 824 L S ZFLY
4,000,000& 4,000
ONEHEE BEs&d37 ¢
30,000& *100MI E 3,000
ONEHREL2MdHSYE 88 2
100,000 *1J0 &~ %103 1,000
OXNEH ML BAEE 26,400
— =2 A 25,000 x 1 #2A| 2t*x163| 15 12,000
— B X2A 15,000 x2H 2 A| 2tx 163 15 14,400
OO0l AHEAHetENE &89 2AE 2 1)
M7 12,700
— =2 A 25,000 x1H «3A| 2t*23] *3004 1! 4,500
— B XA 15,0002 * 1 «3 Al 2 %23] *30H 1 2,700




BA: &2
M Helst nESHAXAM
Sl HEA SMNT N ST (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— ANEAE s Wi F& 550&+10,0005 5,500
OXEHANE FHHR A X 22HH|
1,000,000& *43] 4,000
203 & R =&t 1,800 1,800 0
03 Al =R R =AYl 1,800 1,800 0
OXNEAHOIZ2EMHS & dRFA 1,800,000& 1,800
301 Bt A= 4,500 7,700 A 3,200
09 HAIAHIBEAZ 4,500 7,700 A 3,200
ONNHISIHA, XSS AF L 2S3 2= IHA
A Y AR2FAY| 2,100,000& 2,100
OXNEHDA EIANSH MEE=
10,000& *15H 163 2,400
307 QI2t0| ™ 10,000 10,000 0
04 QI2FSH AFAFS B X 10,000 10,000 0
ORBAXEAH =AM 10,000,000 10,000
ANEH SstEyH &9 166,779 139,274 27,505
101 2121 4| 126,609 93,454 33,155
04 JIZtHIZ22NSE S 126,609 93,454 33, 155
OXNEH 2otdEH 2 JI2EHMZ2 2 X 14| 106,066
—J|I=23 5,580 *8A| 2t*8H 21 x11& 82,495
—F54 5,580& *x8Al 2t *8H x5 11 & 19,642
— g X=E 5,580& *8Al 2t*x8H 1 1& 3,929
OXNEH 2otdE &9 JI2Z2HZE2 X Hed3 8,935
—-J|I23 4703 *8A| 2tx8H x21d x11& 6,949
—F534 470 *8A| 2H*x8H x5 x 11 1,655
—ExE 4703 *8A| 2tx8H 11 331
OXNEH 23HdEH 2 JI2MI2E2X BEE 11,608
— =02 115,001,000 *x45/1,000 5,176
—2A2A8E 115,001,0002 x29/1,000 3,336
— Lo EE  3,336,000&%65.5/1,000 219
- 1888 115,001,000& x15/1,000 1,726
—MHEE 115,001,000 x10/1,000 1,151
201 2ok Y| 40,170 45,820 A5,650
01 At 2t2l ] 9,220 12,420 AN 3,200
OXNEHESIEEH 29232
300,000 x12& 3,600
OFMNEH A2 2 L 44| 3,200
—doIMEEH EYH 2
150, 000& =20 *23] 600
—dIEAMNI EH 7Y 150, 000& *x23] 300
— A E4 P2 100, 000& *23] 200
— GAEH KX E 700,000& *3 *13] 2,100
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SH: 2
st

Ha: Hels DEBAXAM
Sl HEA SMNT N ST (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O=sAMEXN F¢ 25,000& * 104 Xt *23] 500
ORQBHAAHRA =42 160,000& ~12& 1,920
02 3524t 30,950 33,400 A 2,450
03322 % MA 14,450
— M2 1,000,000& x12& 12,000
— B2 50,000& *13] 50
—dEBESNRE 200,000& x12& 2,400
OAlI& &Hl K X Hl| 14,220
— A2 R XHl 22,4703 x898.5m 2,220
— HAIAIE R X E =] 10,000,000 10,000
— St & AR Y| 500,000& *4 4 A~ 2,000
O&EI|tM AL =42 100,000& ~12& 1,200
OAYOor™ ()2 HE =22
90,000 x12& 1,080
#HSAAL (T2 ) 178,880 171,896 6,984
ol 2 A | 112,760 105,776 6,984
ol 2| 112,760 105,776 6,984
101 2121 d| 112,760 105,776 6,984
02 JIEA 2 %= 52,322 46,212 6,110
OXNEHBSHEHE AZPEEHHAIIH 12 H| 38,010
—-J23ic3) 2,520,250 x 1P x12& 30,243
—JIEx¢ 100,000& x1H ~12& 1,200
— NESHIEXE 471,4503 x1H 43| 1,886
e = | 105,000 +35/40* 1 x 128 1,103
— HHZ A 130,000& x 1 x12& 1,560
— A2 A Y|
2,520, 2502 x84%*86%+1/30%1/7+56 Al 2+ 486
— X224 6,381& *1H *20A| 2t 128 1,532
OXNEHBSHEHE AZGEEHUAIH EE= 3,647
— =043 36, 124,000 *45/1,000 1,626
A R =" 36,124,000 *x29/1,000 1,048
— COIEDIQAESE 1,048,000 %65.5/1,000 69
- 11888 36,124,000 x15/1,000 542
—AMEE 36,124,000 x10/1,000 362
OXNEHBSGHEHE A HAINH EXZ
38,060,000& *7% 2,665
OXNEHBHEHZE AZIEEHFMAIIH E 2 A A
= 8,000,000& *13] 8,000
03 2IAHALZZNHE = 60,438 59,564 874
ORIHAZ2Z2XH(IIZ - BotS) 2 AHH| 53,537
—-Jle3 3,354,240 x 1 x12& 40,251
— HHZAH| 90,0003 x1H x12& 1,080
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2HA 20
HM: d¥2HFH(Z2 )
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
— X E 122,6403 x1H 20 2,453
—52422xg 23,0003 *1H x8A| 2tx 128 2,208
—AZ2tA2 RS 23,000 x1H «15A1 2tx 128 4,140
— 9 &SIl 1,677,120& «1H »23] 3,355
— M= ALK 50,000& *1H x13] 50
ORJIIHUAZ2Z2X(IIZ2 - BotS) EE2 6,901
— 2043 53,487,000¥ *45/1,000 2,407
—H2AEE 53,487,000& *30/1,000 1,605
— Lol RABE  1,605,000&*65.5/1,000 106
- 1888 53,487,000& *x15/1,000 803
—MUES 53,487,000 *37/1,000 1,980
Jl=23tl 66,120 66, 120 0
Jl23Hl 66,120 66,120 0
201 Bt A H| 27,360 27,360 0
01 At 22l bl 27,360 27,360 0]
OBAM2d9II=23| 25,920
— Bt ZH| 40,0003 x24H x12& 11,520
— = 2| 50,0003 *24H «12& 14,400
SAI| X = 120,000& *12& 1,440
202 04| 34,560 34,560 0
01 2L Y| 34,560 34,560 0
OgRFAII20 Y| 120,000& 24X x12& 34,560
203 &R =&H| 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
ORANSELERF=AH| 350,000& x12& 4,200
Hests(S2) 12,969,000 14,493,000 A 1,524,000
& 1,035,000
Al 11,934,000
S E 12,969,000 14,493,000 1,524,000
& 1,035,000
Al 11,934,000
HE2L 3 SHEA S Y2 AE 12,033,000 12,425,000 A 392,000
& 1,035,000
Al 10,998,000
311 X 20| AHAH & 833,000 1,225,000 A 392,000
& 35,000
Al 798,000
01 Al - & - FXREIHNLEI S XY 20| KHAHE 833,000 1,225,000 A 392,000
O2dY 42243 T4 (20073 XEHEII2)
4,200,000,000& *3.5% 147,000
OY223 &2 MAEZAH(2008E XIHIHLIIS)
2,400,000,000& *3.5% 84,000
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BA: &2
HM: YRS (T2D)
ol BEXE (chel & 9l)
qE
S E B (3H) - MBAY - BES O Ak o8 %@ﬁ HD=2
OMEIZ T2 & BAH2010E XISHMHLEI2)
7,200,000, 0002 *3. 5% 252,000
OHLZUIHHT 2 SHETAH2010E XK
I12) 8,000,000, 0002 *3. 5% 280,000
=Dt EHETAH2007E KISHLI|Z)
800,000, 0002 *3. 5% 28,000
[ 14,000
Al 14,000
OZESDotm SHITAH2007E X SHHLII2)
1,200,000,0002 *3. 5% 42,000
[ 21,000
Al 21,000
601 X 224 & 11,200,000 11,200,000 0
[ 1,000,000
Al 10,200,000
01 Al -2 - 2XAWLI2HYZ A2 48 11,200,000 11,200,000 0
OB USSR FTH(2007E XISHHLI|2)
21,000,000,0002 *1/5 4,200,000
OUZR3| T2 HAEBAH2008E XIHHLII2)
6,000,000,000% *1/5 1,200,000
OMEIZE2 & ZAH2010E X SHH2I|I2)
9,000,000, 000 *1/5 1,800,000
OHL2UIHHT 2 SHETAH2010E XK
I12) 10,000,000,0002 *1/5 2,000,000
o=t AT AH2007E KIS OHLI|Z)
4,000,000,0002 *1/5 800,000
[ 400,000
Al 400,000
OZSDItl S BAH2007E X€ML I2)
6,000,000,0009 +1/5 1,200,000
[ 600,000
Al 600,000
E0|2 SHATAN S Y2 As 936,000 2,068,000 A 1,132,000
311 XH2 2 0| K} A & 36,000 168,000 A 132,000
03 EY ™SI Y20/ K4 & 36,000 168,000 A 132,000
OZ22 SHHDAH(0022 X2 22/0|2)
900,000, 0002 *4% 36,000
601 Xt 2248 900,000 1,900,000 A 1,000,000
03 EYHBIU2A2 4 & 900,000 1,900,000 A 1,000,000
O=92 =2 AH20002 22 22712)
9,000,000,000% *1/10 900,000
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